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Alicia goes to a hardware shop. She buys 3 items.
What is the most she could pay? What is the least?
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Malachi goes to a paint shop. He buys 3 items.
What is the most he could pay? What is the least?

Leanna goes to a clothes shop. She buys 3 items.
What is the most she could pay? What is the least?
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Tia goes to a fruit shop. She buys 3 items.
What is the most she could pay? What is the least?
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Alicia goes to a hardware shop. She buys 2 items.
What is the most she could pay? What is the least?
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Malachi goes to a paint shop. He buys 2 items.

Leanna goes to a clothes shop. She buys 2 items.
What is the most she could pay? What is the least?
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Tia goes to a fruit shop. She buys 2 items.
What is the most she could pay? What is the least?
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Alicia goes to a hardware shop. She buys these items.
What is the total amount she pays?
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Malachi goes to a paint shop. He buys these items.
What is the total amount he pays?
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Leanna goes to a clothes shop. She buys these items.
What is the total amount she pays?
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Tia goes to a fruit shop. She buys these items.
What is the total amount she pays?

Diya goes to a bakery. She buys these items.
What is the total amount she pays?
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Janan goes to a shop. She buys these items.
What is the total amount she pays?

e





